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Nanyang Primary School
Primary 5
Mathematics
Term 1 Weighted Assessment

Name: o ( ) Marks:
Class: Primary5( ) ' | /20
Date: Parent's Signature:

Duration: 45 minutes
The use of calculators is NOT allowed.

Please sign and return the paper the next day. Any que‘ries'
should be raised at the same time wh_en returning paper.

s e —————-

Questions 1 to'3 carry 1 marks each. Questions 4 to 5 carry 2 marks each. For
each question, four options are given. One of them is the correct answer. Make
your choice (1, 2, 3 or 4) and write your answer (1, 2, 3 or 4) in the bracket ( )
provided.

{7 marks)

1 There were 7680 sweets. Sarah packed 20 sweets into each packet.
How many packets of sweets did Sarah pack? '

(1) 3840
(2) 3340
(3) 384
(4) 334
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Find the value of 84 + 6 = (2 + 1).

(1) 30
(2) 46
(3) 86
4y 88
( )
) 3 8 . .
Find the value of 2 x . Express your answer in the simplest form.
1
1 —
(1) 3 .
2
2 -
(2) 3
6
3 bt
(3) 3
24
4 jovild
(4) 35
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4 :
There were 5 { of milk in the refrigerator.

o1
Jin Jia drank Py { of the milk in the refrigerator every day for 5 days.

How much milk was left iﬁ the refrigerator at the end of the fifth day?

M 5t
@ L
@ =t
4 %c

The first 22 numbers of a number pattem are given below.

8,9,3,5,6,8,9,8,9,3,5,6,8,9,8,9,3,5,6,8,9,8,...

1st 22nd

What is the 205" number?

(1 6
) 8
(3) 3
(4) 9
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Questions 6 to 8 carry 1 mark each. Write your answers in the spaces provided.

For questions which require units, give your answers in the units stated.
(3 marks)

B - Write seven hundred and two thousand and twelve in numerals.

Ans:
7 Express 603 + 6 as a mixed number in the simplest form.
Ans:
2 L
8 Express 3—2-5- as a decimal.
Ans:
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Questions 9 to 13 carry 2 marks each. Show your working clearly and write
your answers in the spaces provided. For questions which require units, give
your answers in the units stated. {10 marks)

9 When a number is divided by 80, fhe quotient is 9900. What is the
number?

Ans:

10  Ahmad paid $40 000 for his car. He paid $36 220 first and the remaining
amount of the money over 6 months. - He paid the same amount of
money each month. How much did he pay each month?

Ans: §

4
11 Maggie eats Ty kg of rice each day. How much rice does she eat in
8 days?

Ans: kg
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1
Muthu had some flour at first. He used > of the fiour to bake a cake and

1 i . . .
3 of the flour to bake some cookies. He then bought 100 g of flour and

had 760 g of flour in the end. How many grams of flour did he have at

first?

Ans: g

13

Joon Hee packed 42 apples into some small boxes, some medium boxes
and some large boxes. Each small box contained 3 apples. Each
medium box contained 5 apples. Each large box contained 7 apples. He
packed 10 boxes of apples in total. How many small boxes of apples did
Joon Hee pack?

AnNs:

End of Paper

8
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Nanyang Primary School

Primary 5 2 Find the valus of B4 +6 + {2 + 1).
#athematics :
Term 1 Welghted Assesament
(1} 30 Ul (ate)
Name: _Msipr Kﬂ?ﬁ () | Mars @ 4 =Rys (33
: {3y 88 -
Class: Primary 5 120 N :
an.f { J (4 B8 8% +2
Date: Parent's Signature: : : _;_8,6 (3 ‘)
Duration: 45 minutes
The use of calcutators is NOT alfowed.
Please sign and return the paper the haxt day. Any queries 3 Fmd‘hevamem"g " 5_ Express angwer in tha
should be ralsod at the same tire when returning paper. : . 4 38 your " the simplest farm.
e = .
s ‘ ' 3
_ m 1 LB AT 2
- Questions 1 to 3 carry 1 marks each. Quastions 4 to 5§ canry 2 marks each. For 3 fA_'- ﬂ".v 3
each question, four options are given. Ona of them s the cormect answer, Make 2
your choice {1, 2, 3 ot 4) and write your answer (1; 2, 3 or 4) in the bracket { } @ = .
provided. 3
{7 marks) 8
(3 1
@ 2
1 Thers were T80 sweels. Sarah packed 20 sweets inle each packet. 38
How many packets of sweets did Sarah pack? { 2)
(1) 3840 ‘7&3}/ % l¢ = 39U
(£} 3340
{3) 23B4
4y 334
¢ 3
! z
) There were%tofml’ik in the refrigerator. Questions & to B carry T mark each, Whribs your answers in the spacas ptwded
For questions which require unils, give your answers in the units statad.
Jln.lladmk;—!afmemﬂkinmmfﬂgsraturevefydayforSdays. {3 marks)
How miuch milk was left in the refrigerator at the end of the fifth day? ' Write seven hundred and two thousand and [FR—
4 e S &
{t} -t —X 2
% e T %
@ L. ers gx?
° —- %,
» 2, B A e 102 012
“ - on I '
@ g: . /45’ “Zo 7 Express 503 + § as a mbed number i the simplest form.
4o -T = 100‘3
H The first 22 numbers of 2 number pattem are given below. - 100_%
6,8,9,8,9,3,5,6,8,0,.8,9,3,5,6,8,0,8,.. . =
EERE R RER RN RN (005 ;
14 220 - Ans: IDD‘L
29
205 .
What Is the 205% number? -T——“-'PJ, 8 siz_?ég’a
Sty
: 65
1 & s -
o 205+ 7:2682  -~b3. 2x¥ ¢
@ 8 2 3“"—: 5703
/ 25ey
3 3 9‘?’3’;14!9,1 .’_3'02'
4 8 ’ .
d
> )
piren w308
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Questions 9 10 13 carmy 2 rnetks each Show your working clearly and write

your answers in the sp For questions which require units, give . _ 1 .
your answars 1 the units stated., {10 marks} 12 Muthu had some flour at first. i-leu:sad2 of the flour to bake a cake and
1 ;
9 When & number is divided by B0, the quotiert is 9900, What is the 5 Of the flour to bake some caoldes. He then bought 100 g of flour and
number?

had 760 g of flour in the.end. How.many grams of flour did he have at

- first?
Heo 4

- : IR N SR [Du =z 220¥ 1D
e . . 2 5 o fo 2 22.00 -
qqcoﬁg’o = 1‘?2. L00 . = ,-"-—
X - fo
a2 000 Téo o0 =bh?
|-+ ,}-
1€ Ahmad pakt $40 000 for his car. Hapaldsaszzaﬁrstandmeremmrng I te
amoum of.the money over & months. He paid the same amount of . . \5U=-660
money each manth. How much did he pay each month? ~ .
. fu ~hEpI3 . Ans: 2200 .
40 000 36 220 . - 320 ,
. 13 J Hee packed 42 apples into srralt boxes, some medi
> 2 180 oon pa al sorme KOS furm boxes

and some [arge hoxes. Each smal box contained 3 apples, Each
medium box contamed § apples. Each large box cortained 7 apples, Ha

37 8 & E‘ =6 30 g;s:a:;sﬂxd(!e;uiapplasinm!. How marry smali boxes of apples did
A“S:s—-é 20 small | mediama | large 1an£1:?j
: : 6 Z 2 ] 624250
13 l:{:zg::ealsakgniﬂceaamday. How much rice does she eat in } @7;(3)1’ (2,(5‘)-1—(2)‘1)
R 4 - = g +lo+llf.
B S ke
5 5
33
) any el
3" o ARy e Ans: 6
Ans: 5 kg
End of Paper
5
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